Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering Sem. - IV - Examination — June- 2011

Subject code:340604
Subject Name: Transportation Engineering
Date:08/06/2011 Time: 02:30 pm — 05:00 pm
Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic
Q.1 (a)(i) Briefthe importance of Roads. Also state the advantages of Road. 03
(if) Define Road alignment and explain the factors affecting it. 04
(b) State the requirement of good harbour, and also classify harbour 07

based on utility and location.

Q.2 (a)(i) Explain classification of bridge according to formation level. 04
(ii) State the functions of sleeper and Rail. 03
(b) Draw neat sketch of Road Section showing all the components and 07
explain each component.
OR
(b)(i) List the requirement of good drainage. 03
(if) Distinguish between flexible pavement and rigid pavement. 04
Q3 (a) Define Camber. State and Explain types of Camber. 07
(b)(i) State various tests carried out for Bitumen and explain any one. 04
(ii) State the factors affecting site selection of bridge. 03
OR
Q3 (a) Write short note on ‘Extra widening of Curve’. 07
(b)(i) State various types of traffic signs and explain one with sketch. 04
(ii) State importance and types of bridge bearings. 03
Q4 (a) Classify the bridge Foundation and explain any one. 07
(b)(i) State measures to reduce scour. 03
(if) Enlist Constituents of Harbour and write function of each of them. 04
OR
Q.4 (a) State and explain types of piles. 07
(b)(i) Write short note on Well Foundation. 03
(if) Explain the shore protection works. 04
Q5 (a) Define Crossing. State characteristics of good crossing and explain 07

types of crossing.
(b) State the importance of Docks, and distinguish Wet Dock and Dry 07

docks.
OR
Q5 (a) Explain with neat sketch the components of Turnout. 07
(b) State the merits and demerits of mound type and wall type 07

breakwater
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